CP100 BAROS VT
RaHS IMAO

MET-L OF BIFRILS
S45C SKH51 S45C
BABR BABR BRBBA
D=RILHRE | I=RIERER | CEREE)

M1 K=IbFvy T2 21—
BCR(P. 1810 £E8)

H2
i
IR
e

el

<
I

M RERFGEIEDRS

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



& & A | Wi | L2 | Ls H Hi w L L1 di d S Hz | Ha
CP100-08040 | 3 12 | 20 | 14 | 40 |25~32| 22 | 755| 62 | 85|14 3 14 5
CP100-10050 | 3.7 | 16 | 25 | 18 | 50 [32~40| 25 | 9% 78 | 11 175] 4 18 7
CP100-12060 | 45 | 20 | 30 | 21 | 60 |40~48| 32 |113 93|13 |20 5 21 8
CP100-16080 | 6 25 | 40 | 28 | 80 |50~65| 38 |151 | 124 |17 |26 6 27 | 10

:. 9570 | BEdig | AR -

AR & M M1 Hs (kN) (N'm) (kg) A&Mm%E
CP100-08040 | M4x0.7 - 8L | M 8x1.25-20L | 14 9 15 0.23 || HSE-9126-SS
CP100-10050 | M5X0.8 -10L | M10x1.5 -25L | 17.5 15 30 0.41 || HSE-9166-SS
CP100-12060 | M6x1 -12L | M12x1.75-30L | 21 25 65 0.75 || HSE-9200-SS
CP100-16080 | M8x1.25-16L | M16x2 -40L | 28 38 100 1.57 || HSE-9250-SS

EFBI - ERGE
‘75>7’z/\°—x

ST m
\

]

|

I
g AETL—k

IILTAR=ZAD D VB ERENVKEEYAXDT 0805 TTEET,

RARMZRIL

ZLBEIERY

RAENMERINMIHE 22F T UBHLE R D ERFDIAATIZE L,
I TEDREDESBVEETEET,

) CP100-08040-AARMEHRI M 4X0.7 - 6L
CP100-10050-EBEAARMAERIIM 6X1  -10L
CP100-12060- 1B AR MEAIIM 8X1.25-12L
CP100-16080- & AR FFZAIIMIOXT.5 -16L

i) RAERMERIVS

H&HS-TyY 7y 5=
HSE-SS(P. 1765 £8)

O£ ERATRETT o THUSAB N ERILNERAL TIT - TR,
BT ORI A2 DEEE 7 — LIS TR TS,

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



